et Obj
46-GIS is acronym for
1) Geostationary International Satellite
2) Generalized Information Syastem
3) Geographic Information System
4) Global Positioning System

47-On a color infrared photograph vegetation appears in

1) red 2) blue 3) green 4) black
48-. il database has generic properties

1) Relational 2) Network

3) Object-oriented 4) Hierarchical

49- Which of the following is not an example of spatial data?

1) Lines showing the route of linear objects.

2) Points showing location of discrete objects.

3) Times of particular events.

4)Polygons showing the area occupied by a particular land use or variable.

50- Which of the following are advantages of DEMs over TINs when creating Digital
Terrain Models (DTMs)?

1) DEMs efficiently store data over varied terrain.

2) DEMs can directly accept inputs from digital height grids and use a simple data model
3) DEMs do not use a simple data model.

4) DEMs do not require resampling if irregularly spaced input data is used.

51-The Landsat satellite is an:

1) Geostationary orbit 2) True polar orbit

3) Near polar orbit 4) Equatorial orbit

52-The best data model for Overlay in GIS is :

1)Raster model 2)Vector model

3)Digital elevation model 4) Triangulated irregular network

53- What is meant by the term 'accuracy'?

1) The extent to which a value approaches its true value.
2) The overall quality of the data.

3) The lack of bias in the data.

4) The level of detail at which data is stored.

54-Which of the following is not a type of map projection?
1) Cylindrical. 2) Conic. 3) Azimuthal. 4) Geographic.

55-What is a cartogram?

1)A form of map where objects are drawn using non-Euclidean coordinates.
2)A form of map drawn by using Braille for the visually impaired.

3)form of map based on photogrametric principles.



4)A map drawn by using CAD/CAM tools.
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